Division par Puissances de Dix (E)

Trouvez chaque quotient.

74 + 10 = 97 +107% =
10 =10t = 73 +-10"1 =
59 - 103 = 39 - 1073 =
5+10'= 80 = 1073 =
18 +-1071= 21+ 103 =

11 =103 = 17 - 1073 =
61+ 10% = 21 +103 =

88 -~ 1073 = 83 +101=
41 +1073 = 42 +10° =

79 - 1072 = 35+10"1=
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Division par Puissances de Dix (E) Solutions

74 +10'=7,4

10 +10'=1

59 + 103 = 0,059

5+=10'=0,5

18 +1071=180

11+ 1073 =11000

61 +10%°=0,61

88 +~ 1073 =88 000

41 +1073=41000

79 + 1072 =7900

Trouvez chaque quotient.

97 +1072=9700

73 +107' =730

39 + 1073 =39000

80 + 1073 =80 000

21 +10°=0,021

17 +1073 =17 000

21 +10°=0,021

83 + 10" =830

42 +10°=42

35+10"1=350
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